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He was unwitting regarding the food, but intentional by the vessel

Overview

The X n3 cited a Xn*°12; if one carried out food in a vessel he is 217 for the food, but
not for the vessel; if he needed the vessel he is 2°°r also for the vessel. The X713
explained that when the Xn>>2 stated that he is 211 also for the vessel,? it is in a case
where he took out the food a3, and he took out the vessel 7m12.°> Our N0 will
cite three interpretation of this X a.
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And when the Xn»12 stated that he is 291 for the ¥, it meant that he is 7220 21,
this is s"s"w9 explanation.

The 0"awn disagrees with "w7s:
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And the 0"2w" has a difficulty to establish the Xn>"2 (when it says *2277 59 A% 2n)
to mean a 77990 21°1, for in all places (in the nn>121 Nawn, etc.) when we say 2>
we are discussing a nXUT 217, not a 717°p0 21 —

mooIn cites the s'0"aw" explanation:
=12 9991 XD PIINN HY 7510 60991 JY YWY 1D RDIN NN

So the 0"2w" amended the X933 to read; where ‘for instance he was a A for the

2v%> and a 771 for the food’, but witnesses did not warn him regarding the food -
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I This moo1n references the X3 on X, 7.
2 Seemingly if he carried out the food and the vessel 3w32 in one 0%¥71 (he was not aware that today is naw, or not
aware that carrying is prohibited) he is 211 only one nXur.
3 Let us say he assumed that one is permitted to carry food (312), but not permitted to carry vessels (71m).
4 According to "1 he is 211 a nxwn for the P72 (which he carried out 33w2) and is 79°p0 270 for the vessel which
he carried out T12.
3 See Mww "7 R,7¥ >"wI. According to *"w1 the s’k m3 follow up question *np *9237 %Y AR XM is to be understood (as
XM 77"72°"w explains it) that the word ‘AX (also)’, indicates that the 2117 for the 75 is the same as the 2111 for the 192X,
namely a nRvn 20, but not different 0°21°1; one nXwvn and one 77°p0.
¢ The xn»"2 stated, *27 %v [AX] 211 12 1% *92 777 OXY, so according to the 0"awA the NXvA 210 must be for the 93,
therefore it was necessary to change the X0a that he was 3w on the 23 (but not on the 1"921X)
" The s'x 3 follow up question, "1np *9371 % AR R, is a much stronger question according to the 2"awA than according
to *"w" (see footnote # 5), for the question according to the 2"2wA is obvious; since it states *2377 99 A8 21, this means
that he is certainly 21 for the 792; however according to the o"2w", he is Mo for the P2 (since it was X?2 79712
7RAN7). See footnote # 10.
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So regarding the food there is neither 77%°p% (for there was no 7X1n7), nor a 21’1
to bring a nRwI 1277 (since it was 772 and not A1w31); however he is 2917 a nRwn
for the “»>.

moon challenges both >"w7 and the a"aw":
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And the >''1 disagrees with both >'"'w9p and 2" 2w 95, the reason is -
=13 DMWY YN DY HNROLN 299N 1PN THN TITNYIT

For when he was a 7512 by one of them (either the 175X [like the 2"2wA], or the *%5
[like >"wA]) he is not 3511 a nXLR for the second item that he carried out (either the

"3 or the 1°721X) unintentionally; the reason he is not 21 is because -
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For he would not have refrained from doing the 77985 had he known it was M0K.
We know that he is not a 1nv>7°» 2w, since he was a 791 in the other one —

A third view:
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And it is the view (of the >"7/m501n) that now that we have established that he

was a 712 by the 93, the entire Xn»12 is discussing regarding a 7%9p0 2171 -
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And this is the explanation of the Xn>" 2 (according to the answer 92187 2¥ MWW
5277 %Y 7°17); ‘one who carries out 7°722 792X in the proper amount in a “%3, he

is 779°p% 2717 for the 1928’ meaning where -
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For instance they warned him regarding the 19%2I8; so he is 72°po 277 -
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‘however he is o (from 72°po) for the “92°; meaning if they warned him

regarding the 22 only, he is s, (since the 73 is 750 and he has no need to carry it outside);

he is MW even for the PY2IR, since he was not warned for the 192X -
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‘However if he had a need for the “®> outside, he is 7%°po 217°, even if they
warned him regarding the "> (only). This concludes the explanation of the xn>2 -

8 A person brings a nxun for a 2w and is forgiven, since he was not aware he is doing an 77"y (and had he known he
would not have done it), and now that he is aware he is seeking atonement. However in the cases of a"aw 1 *"wn,
granted that he was a 2w, but he cannot bring a nxun, for even if would have known that this 75877 is forbidden, he
still would have done it, since we see that he carried out the other item 7°722. This shows that this person cannot be
considered a 2w who was Ny>7n 2W.
? Even the Xw™ (of 1921871 ¥ 27n) is also discussing 772°p0 21n. See ‘Thinking it over’.
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And the X3 asked, but the Xn» 2 taught that he is 2»n ‘even on the 9>,
indicating that he is 29917 two; however there can never be two 72°p0 *21n.

Summary
One cannot bring a nxvn if together with this 2w he did an additional 7122 7oX%.

Thinking it over
Why is it that the >"1 found it necessary to establish even the X1 by 79p0 arm,!!
however 2"2w >"w1 did not find it necessary to do so?'?

10 The question *1np 2371 ¥ AR ’M according to the *"3 is seemingly the same as according to the 2"aw, but it is
different according to >"wn (see footnote # 5). Seemingly this question *1np *2373 9¥ AR XM is so strong according to the
"1 0"awn, that it is difficult to understand what was the reasoning of the one who gave this answer; it is obvious from
the °2571 %Y AR 11w that there are two 2°21n, not one. However according to the >, it may not be so difficult, because
we could say that °23571 9¥ AR 211 means that even though that in the X1 (where he did not need the *23), he is not 2n
9371 %y (if they warned him about the *22), nevertheless in the X9°0 (where he needed the *22) he is *2571 ¥ AR 271; even
on the *73, which he was not X712 2>°n. According to *"wA the 1370 did not understand that *7377 %y AX means the same
arn, it could be a different 21m.
! See footnote # 9.
12 See x"wmn.
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